3aJaHnga Ha NOBTOPEHUE
Kypca anreopsbl

O knacc




1. Hangnte 3HavyeHune 4YncrioBoro
BblpaXKeHUA:

a) (8 { 217-)-2,7—4-1-:0,65;
12 30 3

6) (11_1_ + l‘?’-] 1,44 — 2 . 0.5625.
24 30 15



2. YNPOCTUTE BblpaXkeHue:

a) 3x(x — 9) — dx(x — 3);

0) 2y(x — y) + y(3y — 2x).



3. PelunTe ypaBHeHMeE:

a) 2¢° - x(2x - 8) - 2(2x - 1) - § = 0;
0) 6x(x + 2) - 0,5(12x* - Tx) - 31 = 0.




4. PackpouTte CKOOKK B
Bblpa)XeHNN, NCMNOSb3yS
doopmMynbl COKpalleHHOro
YMHOXEHMUS

a) (a + x)% 0) (6b — 3)*

B) (8x + 3y)*; r) (9p - 2q)°.



O. Packpounte cCKoOKu B
Bblpa)XeHNN, NCMNOSb3yS
doopmMynbl COKpalleHHOro
YMHOXEHMUS

a) (3a — 1)(3a + 1);
0) (x — 1)(x* + x + 1);

B) (10x® — 5y%)(10x® + 5y?);
r) (m* + 2n3)(m* — 2m?n3 + 4n®).



6. Bbluncnute, ncnonb3ys
npueMbl pasnoXXeHua Ha
MHOXUTENM

) 910
1372 —1232°

63 - 200 — 63 - 38,
0) — (2 2
144 - 18




[. Pasnoxmte Ha MHOXeTenu

a) ax* + 3ax;

0) 15x%y* + 10x°y - 20x°y°;

B) 5a*b — 6a°b?;

r) 195¢%° — 91c°p® + 221¢%p'°.




8. Pasnoxute Ha MHOXeTenu
a) m* — 49;
0) 2a%c® - 18;
B) 64p* — 81¢3;
r) 10x® — 10x°.



9. Pasnoxmnte Ha MHOXeTenu
a) ¢ — 64;

0) 25a* — 20a%b + 4b3;

B) 5a* + 10ab + 5b%;

r) 15a® + 15b°.



10. CokpaTtunte Oapobb

6a + 6b Y - x°
a) ; B) ;
Ta+7b X - 2xy + i
2 _ 2 4t° - 2t + 1
ma mda
0) — D a1
m —ma



11. PelunTte ypaBHeHUE
a) x:—4=0: x?—4x=0.

6) 3x—x*+10=0. 2x—x*+3=0.

8 6 _x+l 1

X 7
B e - — -
) x—-9 x-3 x+3

x—2—x+2 =x2—4'




12. PewunTte HepaBeHCTBO

a) 3(x+1)<x+5. 3(x+2)<4-x
) r

3.6x -~ 12x > 08x+6 J1ama=aslond,
—0.2(1-4x)-0,5x < 0.1x. 0,3(1-x)<0,1x +0,7.



13. YNPOCTUTE Bblpa)eHune

a) |i_1 1 "1_ v | 3y+3
(X ) y-x 1 1+1J 3

. : i e

)xl x--’* G2

B)442 =38 +2+/32 4.3 327 +2243



